
Wood

5

3

2

1

 4
m

m
 

NR. Description MA Item Number Qty

1 MVBF M6x25 8008566 4

2 Corner stone right 8055163 1

3 Corner stone left 8055371 1

3 Ø6 16/7 x 3 mm 8035290 4

5 TKFT 6x40 mm 8008651 2

6 MVBF M6x25 8008566 4 TeK3 ToB 2016-04-26 2

MASW46033
 1 ( 2)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Corner stone 
HAGS



5

1

2

 4
m

m
 

Steel

NR. Description MA Item Number Qty

1 MVBF M6x25 8008566 4

1 Corner stone right 8055163 1

3 MVBF M6x25 8008566 4

2 Corner stone left 8055371 1

5 T-27 Torx 6x25mm 8008505 4 TeK3 ToB 2016-04-26 2

MASW46033
 2 ( 2)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Corner stone 
HAGS


	Sheet2
	Drawing View2
	Drawing View3
	Detail View B (1 : 3)

	Sheet3
	Drawing View5
	Drawing View6
	Detail View A (1 : 3)


